Headboard Modification Plate

ASSEMBLY INSTRUCTIONS

STEP1

Place assembled bed frame in front of headboard and position Figure 1 T\
modi plate to determine which slots will line up with the headboard N
brackets and headboard. Use provided lock nuts and bolts to attach

modi plates to bed frame headboard brackets as shown in Figure 1.

Headboard
STEP 2 N

N e
Use provided lock nuts and bolts to attach Bolts

headboard to modi plates.
Modi Plate

Bed Frame

Lock Nuts

\Washers

STAN DAR D Note: Bolts and nuts can be
M O D I F I CATI O N P LAT E reversed from from what
Figure 1 shows.

Parts List:

2 ModiPlates 4 |ock Nuts
4 Short Bolts 4 Washers



HEADBOARD ASSEMBLY INSTRUCTIONS

PARTS LIST:

(A) M8 Bolts x4
(B) Big Washers x4

(G) Headboard Mounts x2
(H) Wall Mounts x2

(C) Wrench x1 (I) Screws x16

(D) M6 Bolts x4 (J) Drywall Anchor x8
(E) Small Washers x4 (K) 5mm Allen Key
(F) Nuts x4 (L) 4mm Allen Key

@ © (mmmmm
© ©
®) @ ®© ® O

(C)ib © el To () @ Dz <L>|;]
© ©

W) [

(K) ;]

®© (Fmm e o

STEP1

Remove the headboard from the box and lay it face down on
the ground. Open the velcro panel on the back and remove both
the legs and hardware.

STEP 2

Using two (A) M8 bolts, two (B) big washers, and the provided
holes, secure both legs to the headboard at your desired height
with 5Smm Allen key (K) provided (see Figure 1).

STEP 3

With the front side of the headboard facing the bed frame,
attach the headboard to the frame using the 4mm Allen key (L),
(D) M6 bolts, (E) small washers, and (F) nuts (see Figure 2).

If your bed frame doesn't fit the headboard, use the provided modification
plates to secure the bed frame to the headboard. More instructions are
included with the plates. If you choose to mount your headboard to the wall
you can remove the legs. If you wish to keep the legs, complete steps 1-3 first.

STEP 4 (Wall Mount Option)

Using the mounting blocks inside your headboard, screw the
two (G) headboard mounts to the top of your headboard with the
provided () screws (see Figure 3). Then place the (H) wall
mounts at the same height as the (G) headboard mounts.

1 I(A) M8 Bolts
H B) Big Washers

Figure 1

(A) M8 Bolts

(B) Big Washers Legs
Fi 2 (D) M6 Bolts
'gure Headboard Leg O %
Bed Frame (E) Small \X/asher °
Figure 3 Mounting Blocks

(G) Headboard Mount (G) Headboard Mount

I[:ﬂm’ o

©

< [ — <) 2

(1) Screws x4 g
o\l T .
H ° :
B S B

k)

(H) Wall Mount a

fic]

(J) Drywall Anchor x2
(if needed in step 3)

\



LIFETIME LIMITED WARRANTY

WHAT IS COVERED

This warranty covers any defects in
materials or workmanship, with the
exceptions stated below.

HOW LONG COVERAGE LASTS
This warranty runs for as long as the original
purchaser owns the product.

WHAT IS NOT COVERED

The warranty applies only to the original
purchaser and does not cover: (a) wear and
tear; (b) improper maintenance, misuse, or
alteration; (c) repair by unauthorized
representatives; (d) damage resulting from
transit or handling; or (e) transportation costs.

WHAT WE WILL DO

At our sole discretion we will repair, replace,
or refund any product that proves to be
defective in materials or workmanship.

HOW TO GET SERVICE

E-mail "warranty@lucidmattress.com” to
submit your warranty claim. Please keep
your receipt so that we may process your
warranty request.

HOW STATE LAW APPLIES
This warranty gives you specific legal rights,
and you may also have other rights which
vary from state to state.

The foregoing warranty shall be exclusive and in
lieu of any other warranty, express or implied,
including warranties of merchantability and fitness
for a particular purpose and all other warranties
otherwise arising by operation of law, course of
dealing, custom, trade, or otherwise. Neither the
seller nor the manufacturer shall be liable for any
injury, loss or damage, direct or consequential

arising out of the use or inability to use this product



Plaque de modification pour téte de li

INSTRUCTIONS D'ASSEMBLAGE

ETAPE 1

Placez le cadre de lit assemble devant la téte de lit et positionnez ﬁgure. 1
la plaque de modification pour déterminer les fentes qui s'aligneront
avec les supports de téte de lit et la téte de lit. Utilisez les contre-ecrous
et les boulons fournis pour fixer les plaques de modification aux supports
de téte de lit du cadre de lit, tel qu'illustre a la figure 1.

Téte de lit

ETAPE 2 Boulons

Utilisez les contre-ecrous et les boulons fournis o
- . ‘ : Plaque de modification
pour fixer la téte de lit aux plaques de modification. \

Cadre du lit

Contre-écrou

Rondelles

PLAQUE DE
MODIFICATION STANDARD

Liste des piéces :

2 Plaque de modification 4 Contre-écrous
4 Boulons courts 4 Rondelles

—

N




INSTRUCTIONS D'ASSEMBLAGE DE LATETE DE LIT

LISTE DES P”‘ECES: (A) @(I]m]]mm (D) @ (]]:mmm H [o © () e

(A) Boulons M8 x 4 (G) Support de téte de lit x 2

(B) Rondelles x 4 (H) Fixation murale x 2 (B) @ (E) @ (F) © © (K)
(C)Clex1 (1) Vis x 16 O

(D) Boulons M6 x 4 (J) Ancrage de cloison seche x 8 5;
C G | Doz L)
(E) Rondelles x 4 (K) Cle a téte hexagonale 5mm © '|e © e ( ‘;]
© ©

(F) Ecrous x 4 (L) Clé a téte hexagonale 4mm

ETAPE 1 ; I(A) Boulons M8

\

(A) Boulons M8
(B) Rondelles

Retirez la tete de lit de la boite et posez-la face contre terre. Figure 1

Ouvrez le panneau de velcro a larriere et enlevez les pieds et le
materiel.

ETAPE 2

A laide de deux (A) boulons M8, de deux (B) rondelles et des trous

Pieds

fournis, fixez les deux pieds a la téte de lit a la hauteur déesirée
avec la clé hexagonale fournie. (voir la Figure 1)

ETAPE 3

LLa face avant de la téte de lit etant tournée vers le cadre du lit,

fixez la téte de lit au cadre a laide des boulons (D) M6, des (D) Boulons

N

rondelles (E) et des ecrous (F). Figure 2 Téte de lit

Sivotre cadre de lit ne s‘adapte pas a la téte de lit, utilisez les plaques de \
modification fournies pour fixer le cadre de lit a la téte de lit. D'autres Cadre du lit (E) Rondelles

instructions sont incluses avec les plaques.

ETAPE 4

A laide des blocs de montage situés a larriere de la téte de lit,

vissez les deux (G) supports de téte de lit sur le dessus de la téte
de lit avec les vis (1) fournies. A l'aide des autres vis (1), fixez les
supports muraux (H) a votre mur. Assurez-vous de placer les
supports muraux a la bonne hauteur pour les jumeler aux supports
de téte de lit (G) que vous avez deja installes (voir figure 2). S'iln'y a

pas de goujons muraux pour fixer la téte de lit a votre mur, utilisez
Figure 3 Bloc de montage

(G) Support de téte de Lit (G) Support de téte de lit
de lit et abaissez-la pour joindre les supports (G) et (H). 1

plutot (J) les ancrages pour cloison seche fournis. Soulevez la tete

|

(H) Fixation murale|
L (J) Ancrage de cloison
seche x 2 (si nécessaire
dans l'étape 3)

\/

Dessus de la téte de lit

\



GARANTIE LIMITEE A VIE

CE QUI EST COUVERT PAR

LA GARANTIE

Cette garantie couvre tout défaut de
matériau ou de fabrication, sauf indication
contraire ci-apres.

COMBIEN DE TEMPS DURE
LA GARANTIE?

Cette garantie dure aussi longtemps que

lacheteur d'origine est proprietaire du produit.

CE QUI N'EST PAS COUVERT
PAR LA GARANTIE

La garantie ne s'applique qu'a lacheteur
original et ne couvre pas: a) lusure; (b) un
mauvais entretien, une mauvaise utilisation
ou une alteration; (c) réparation par des
representants non autorises; (d) les
dommages causes par le transit ou la
manutention; ou (e) les frais de transport.

CE QUE NOUS FERONS

A notre seule discrétion, nous réparerons,
remplacerons ou rembourserons le prix
d'achat de tout produit qui s'averera
défectueux en raison d'un defaut de
matériaux ou de fabrication.

COMMENT OBTENIR LE SERVICE
DE GARANTIE

Envoyez un courriel a
warranty@lucidmattress.com pour soumettre
votre demande de garantie. Veuillez
conserver votre recu dorigine afin que nous
puissions traiter votre demande de garantie.

COMMENT S’APPLIQUE LA LOI

DE L'ETAT

Cette garantie vous donne des droits
juridiques speéecifiques et vous pouvez
egalement disposer d'autres droits qui varient
d'un état/province a lautre.

La presente garantie est exclusive et remplace toute
autre garantie, expresse ou implicite, notamment les
garanties de qualite marchande et dadequation a
un usage particulier et de toutes les autres garanties
decoulant autrement en vertu de la loi, du cours des
affaires, personnalise, commerce, ou autrement. Ni
le vendeur ni le fabricant ne seront responsables des
blessures, pertes ou dommages, directs ou indirects,
resultant de lutilisation ou de limpossibilite d'utiliser

ce produit.



Placa de modificacion de cabecera

INSTRUCCIONES DE ENSAMBLAJE

PASO 1

Coloque el bastidor ensamblado frente a la cabecera y posicione la placa Fig. 1
de modificacion para determinar qué orificios de esta se alinearan

con los orificios de la cabecera. Utilice las tuercas autoblocantes y los pernos

proporcionados para unir las placas de modificacion al bastidor

y a la cabecera, tal como se muestra en la figura 1. Cabecera
PASO 2 Pernos

Utilice las tuercas autoblocantes y los pernos proporcionados Placa o

para unir la cabecera a las placas de modificacion. de modificacion \

Bastidor
de cama

Tuercas
autoblocantes

Rondanas

PLACA DE MODIFICACION
ESTANDAR

Lista de piezas:

2 placasde modificacion tuercas autoblocantes
4 pernos cortos 4 rondanas

T~

N




INSTRUCCIONES DE ENSAMBLAJE DE LA CABECERA

LISTA DE PIEZAS:

(A) 4 pernos M8 (G) 2 soportes para cabecera

(B) 4 rondanas (H) 2 soportes de pared

(C) 1 llave inglesa (1) 16 tornillos

(D) 4 pernos M6 (J) 8 tacos de anclaje para carton yeso
(E) 4 rondanas (K) Llave hexagonal 5mm

(F) 4 tuercas (L) Llave hexagonal 4mm

@WO(Im © © mwmw ¢ o [
® @ ®© ® e _°l w
O ]
© 5; © o] Jo () @ ppmmm= (L) 1;]
© ©

PASO 1

Retire la cabecera de la caja y coloquela boca abajo sobre el
suelo. Abra el panel de velcro de la parte posterior y saque las
patas y las herramientas.

PASO 2

Utilice dos (A) pernos M8, dos (B) rondanas y las ranuras propor-
cionadas para asegurar con la llave hexagonal ambas patas a la
cabecera a la altura que desee (vea la figura 1).

PASO 3

Con la cara frontal de la cabecera hacia el bastidor, una la
cabecera al bastidor con los (D) pernos M6, (E) rondanas y (F)
tuercas.

Si su bastidor no se ajusta a la cabeceraq, utilice las placas de modificacion
proporcionadas para asegurar el bastidor a la cabecera. Se incluyen mas
instrucciones con las placas.

PASO 4

Usando los bloques de montaje en la parte posterior de la
cabecera, atomille los 2 (G) soportes para cabecera a la parte
superior de la cabecera con los () tornillos proporcionados. Una

los (H) soportes de pared a la pared con los (I) tornillos restantes.

Asegurese de colocar los soportes de pared a la altura correcta

para emparejarlos con los (G) soportes para cabecera previamente

instalados (vea la figura 2). Si no hay perfiles para carton yeso en
los cuales pueda asegurar la cabecera a la cama, utilice en su
lugar los (J) tacos de anclaje para tablaroca proporcionados.
Levante la cabecera y coloquela en el lugar adecuado para unir
los soportes (G) y (C).

I
Rondanas

=

\

I(A) Pernos medianos
(B)

Figural

Patas

(D) Pernos largos

Figura 2 Cabecera \\&/
Bastidor de cama ® Rondanas "
Figura 3 Bloque de montaje
(G) Soporte para cabecera (G) Soporte para cabecera

|

(H) Soporte de pared

~
=y
9
3.
o
n
Parte alta de la cabecera

(J) 2 tacos de anclaje para
cartén yeso (en caso de ser

necesario en el paso 3)

\



GARANTIA LIMITADA DE POR VIDA

LO QUE CUBRE

La garantia cubre cualquier defecto
de fabricacion o de material, con
las excepciones que se mencionan
mas adelante.

POR CUANTO TIEMPO ES
VALIDA LA COBERTURA

Esta garantia sigue vigente mientras el
comprador original sea dueno del producto.

LO QUE NO CUBRE

La garantia solo el valida para el comprador
inicial y no cubre: (a) el desgasto por uso; (b)
el mantenimiento incorrecto, el maluso o la
alteracion del producto; (¢) la reparacion por
parte de representantes no autorizados; (d)
el dano generado por el traslado o el manejo
del producto; o (e) los costos de transporte.

LO QUE HAREMOS

A nuestra entera discrecion, repararemaos,
reemplazaremos o reembolsaremos
cualquier producto que tenga defectos
de fabrica o de material comprobables.

COMO OBTENER EL SERVICIO
Envie un correo electronico a
“warranty@lucidmattress.com’ para presentar
su reclamacion de garantia. Guarde su
recibo para que podamos procesar su
solicitud de garantia.

COMO APLICAN LAS LEYES
ESTATALES

La garantia le otorga ciertos derechos juridicos
y podria tener tambien otros derechos que
varian en cada estado.

La garantia mencionada sera exclusiva y
reemplazara cualquier otra garantia, ya sea escrita

o implicita, como garantias de comerciabilidad

o idoneidad para un fin determinado y cualquier otra
garantia que surja por disposiciones legales, usos del
trafico, aduanas, comercio u otros. Ni el vendedor ni
el fabricante asumiran responsabilidad alguna por
cualquier lesion, perdida o dano, sea directo

0 consecuente, que surja como resultado de utilizar

0 no poder utilizar este producto.





